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3.3 UOOoobooooon

0000000 f(z)COD0OOUOOOU0OOUOOOOOOODOUOOOOO
goooobooogoobobooooo

T < 71 < 79 < < x, (3.12)

0000 @pt1 € [wo, 200 @ #a) i=0,1,...,n00 000000000
000000 f(z)ec*'0OOO
ooo

9(@) = f(2) = fu(@) — anp1(z — wo)(w — 21) -+ (z — ) (3.13)

00000000000000000 ap41 0 g(z,e)=00000000
00000000000 g(z)00OD0OUODOOOOOOOOOO

g(zi) =0 (i=0,1,....,n,n+1) (3.14)

goboooooobboboobooooaobo

00 00g(x)ec'000 [x,2,)]000000+200 00000
OD0¢"**Y(2)00000000000000000000

00 ¢z)0n+20000000000000000 4100000
000000000000 g»)=000000000000000¢/(2)0
0000000000000000000000000000000000
00¢(z)000 [z0,2,)] 000000 n+100 000000000000
¢(x)eCrO000DDNDNONONDODOOONONONODNOOOOg™)(z)0 O
0 [x0,2,] 0000000 100 0000000000000000000
0000 Q.E.D.O

00000(3.13)00 g(z)0000gY(¢) =0000 € € [xg,2,]00
O000000f.(x)0 0000000000
9"t (@) = f (@) = (n+ 1)l ang (3.15)

DO000x=£00000

ForD(g)
Ap+1 = m (316)
ooo (3.13)|:|D|]|][||:| r=z,, 00000
9(@nt1) = f(@nt1) = fal@ngr)
(n+1)
e ania — 20) (s — 1)+ (s — )

— 0 (3.17)
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goboogd

n+1 n

o) = alon) = T T =) 318)

1
(n+ 1)! woe<e,
0000000000000 |zew — 2| < |2 — oD i =0,1,...,n00 0
gboboobobooblzyy; =20¢=0,1,...,n0 00000000 00O
D00D00(3.19)0000 2pyy € [20,2,]0000000000000000
goobobobooobooboobbooboboooooobbobooooooo
(3.1900000000000000OU0D0O00O0OO0ODOOOO

(3.19) 000000 »n00000000D0 f™(z)0000000000
gboofbooooboooooobooboobobobboooooobooboon
000000000000 exp(x)D0000 sin(x) 00000000000
UO0n0doogoooooboo f(")(l‘)DDDDDDDDDDDDDDDDDD
gooobooobooboobobooooobooobboooobooobooooo
OO000000 RungeOOOOOOO

|f (@ng1) = fa(@nsr)] < |FD )] | — wo|"(3.19)

3.4 UJUooood

ooooboooooobooobooboboboobboooobooboboooD
OO000000DD0ORuwge0O0ODOO0O0O0O0OODOOOOOOOOOOO
gbbobooooobooboboobooobooobooooobooooooooo
gbooooooboobobooooboooooboooo

0000000000 ooooog [zy,20i=1,2,...,n000000
goood

Pl(a:) = Cl,i + 0277;(93 — Cbi_l) + Cg@(i — Ii_1)2 + 0471'(‘% — I‘i_l)g (320)

000000000000 ¢?200000000000000000000
0000000000 O00000O00

000000 2,21,...,2, 000000 yo,y1,...,y. 00000000
0000 (1)00 (400000000000

(1) ooooOooOoooDOooOooooo

{ Pi(zi—1) = yi—1

Pi(z;) =y (i=1,2,....n) (3.21)

go

Cl,i =Yi-1 ( (3‘22)
Cl,i + 02,1AI1 + CgViA.’E? =+ 0471'Al'? =Y (7, =12,..., TL)
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0000 Az;=2; —2; ,00002,0000000000

(2) 000001000000
P (zi_1)=Pl(zi_1) (i=2,3,...,n) (3.23)
00
Coic1 +2C3,;1Azi—1 +3Cy;—1Az7 | =Coy (i =2,3,...,n) (3.24)

Ub0»-10000000000

(3) 000002000000

Pi,l_l(lii_l) :P!,(Ii_l) (222,3,,77,) (325)

K2

oo
20371‘_1 + 60477;_1Al'i_1 = 20371‘ (Z = 2, 3, P ,n) (326)

ob0»-10000000000

(4) 000000000 0

P!'(20) = 0
1 (o) (3.27)
Pl (zn) =0
oo
Cs1=0
o1 (3.28)
203,n + 6047nAIEn =0

ogboo0O20000000000

0 (3.22)0(3.24)0(3.26)0 (3.28) 00000000 4, 00000000
00 400000 Cy4,Ch,Cs4,Cyi0i =1,2,...,n0000000000
00000000000000000000000000000000000
00000000000000MOD0000000000000000000
2002.00 000000000000000000000000000000
000000000000000000000000
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030000

001

0000 n+1000 (20,%0)s (x1,91), - -+, (T, y) 0000000000 # j
000 2;#¢,00000000000000000000 n+10000
O0nO000y=anz"+---+aix+aq0000000000000000
ooooooooo

(1) oo y:anxn+"'+a1x+a0|] (x07y0)7(x17y1)7-~-7(xn7yn)D gg
ooooooo

oooooOoo0oooooooan

x, = (vo,21,...,2,)"

Yn = (y07y17"'7yn)t
1 x9 x% Sooxg
1 :E% R A

Vv, = 1 x9 x% R
1z, 22 xn

gooo

(2) vV, 0DOODO

detV,, = H(x] — ;)
= (Tn —20)(Tn—1 —T0) -+ (T3 — o) (T2 — o) (T1 — T0)

X (xnp—x1)(Tp_1—x1) (23 — 1) (T2 — 1)

X (xp —x2)(Tp—1 —x2) - (23 — 2)

X (T —@p_1)

000000000000000000000001<i<j<n00
00 4,j0000000000]],(z;—2)=1000000
00000 OdetV,00000i00004i—100 2, 000000
0000 i=n+1,n,...,3,2000000000000 100000
0000000000000 0C000000000000000000
oDoooo

(3 00000000 O0OO0OUOOUOOODOUODODODOOO
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ug 2

(1) f(z)=sinz000 [0,27]0 n+1000 z; =27i/n (i=0,...,n)0
oooboooboobooooobooooooobboooboboobooooon
goobooo

(2) f(z) =expx 000 [0,1]0 n+1000 o, =4/n (i=0,...,n)0
oooboooboobooooobooooooobboooboboobooooon
goobooo

(3) 00 (1)0(2)000000000000000 1030000000 n
00000000000000

oo 3

()n+1000 2 < a1 < ++,2, 00000000 g = fla)Di =
0,1,...,n0000000000000000000000000 [z, 2]
0000000000000000 f(z)000000000000
ooo

(2) f(z) =expzOa; =i/n0i=0,1,...,n00000000000000
00000nO 200 1000000 exp(1/v2)0000000000
n0000000000000000000000000

ug 4

(1) f(z) =sinz000 [0,7]0 4000 =0, 7/3, 2r/3, 7000000
000000000000030000 [0,7/3]0[r/3,2r/3]0[2r/3, 7]
0000000000000000000

(2) 0000000000000 2=x/6000 2=x/40000 sina
0000000000000000000000000
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obooooooooooboooOooOoboobOooOooooobOoooooboog
gooboooooooooooboboooboboooooobooboobooboooo
gbooobbooooboooooboooboboobooooooboooooaon
goooooooboobobooboobooboooooboboooooooon
ooobooooboooooooobooooboooOoobooboooooooonoa
oboooooobooooonbog

4.1 0000

000 1=/'f(z)de0000000000000D0000000 a-=
To<T <<z, =b000000 f(x) 00000000000000
0eb000000000000000000000000000000
000000000000 0000000000000000000000
000000000Rr+10000000000000000000000
0,0000000000000000000 f(z)00000 RungeO O
000000000000000000000000000(e,b00000
00000000000 0000000000000000000

00000000 [#y,2)04=1,2,...,n,0000000000000
f(x)000000000000000D0000000000000000
(3.1)0(3.3)00000 [z_y,2,]0000000

Pi(x) = ;%q + 7 Yi (4.1)

gobobbooobooooboooobobbooobbboboood

i i T —x; T — 1z
/ Pi(x) dr = / <4l yiog + ———L yz> dx
Ti_1 Ti_1 Ti1 — & Ti— Tj—1

1
= /{(172)%—1"‘23/1'}(11'*zi—l)dz
0
1
= @i = i) (i1 + ) (4.2)
O000z=(x—a;-1)/(x; —2,-1)00000
gooooooooooooooboooooooao
b—a
n

=h (i=1,2,...,n) (4.3)

L — Ti—1 =
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obooooooooooo %h(yi_l—l—yi)DD[lDDEl Ioogooooo
oobooooooobooooooooogo

— 1
v Z§h(yi71 +¥i)
i=1

1 ity 1
= 7 “Yn h
<2y0+;y +2y>

1 nt 1 b—a
= (swo+ Y witsu - 4.4
<2yo+i=1y +2y> " (4.4)

goooooo

4.2 OOOOOO

000p00000000000000000 [z_y,2iPi=1,3,5,...,n—
100 0000000000000000000 y_1,y;,% 0000000
0000000000000000000000000000000000
00000000000 000000000000000000ooooOno
0000000 [zi_1,24.]0000000

. (@ —z)(z—wipa) (@ — @) (@ — ig1)
i) (@it — 2) (@1 — wip1) V" * (i —xio1) (T — Tig1)
(93:: : ii_i;gi;ﬁl)xl) Yit+1 (4~5)

4

0000000000 00000 |21, 0000000 241 — @ =
xi—wi,lthDDD

Tit1
/ Pi(z) dx

Ti—1

Tit1 (v — @) (x — @iq1) (x —wi—1)(x — i41)
/gci1 { (i1 —x)(Tio1 — Tig1) vt (i —xi—1) (2 — Tig1) Y

(2 —aiz1)(@ — ) }
i d
(@1 — @) (@i —a) 7
Y (hz-h(z—-1) h(z+1)-h(z—1)
/ { 242 Yi—1+ 2 Yi
h(z+1)-hz
2h2

1 4 1
<§yi1 + sy + _yi+1> h (4.6)

—1

Yi+1 } hdz

3 3

000 z=(x—a;)/h00000
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dodoooooooooooooooooooooooo rooooo
= 3y0 3y1 3y2 3y2 3y3 3y4

Y T R h
3yn—2 3yn—1 3yn

1 2
{§y0+'§(y24-y4+-”'4-ynﬁ

4 1
+§(y1 +y3+"'+yn1)+§yn}h (4.7)

obooooooooooooobooboooon



